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Part - III

MATHEMATICS, Paper - I
(Bridge Course)

(Telugu Version)




Time : 3 Hours Max. Marks : 75

A, B 

 - A 10×3=30

I. 
(i) 
(ii) 

1.
2 3 1

A
7 8 5

 
  
 

,
1 0 1

B
2 4 1

 
    

A + B 

2.
0

A
0

i

i

 
   

 A2 = –I 

3.
1 1

A
1 1

 
   

, 
1 1

B
1 1

 
  
 

 AB 

4. 2 2 5a i j k   , 2 3b i j k   

5. 2 2 3 , 3 2a i j k b i j k        2a b , 2a b 

6. 2 3i j k    4 2 3i j k  


7. 3sin 4cos 5    4sin 3cos 0   
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8. cos100ºcos40º + sin100ºsin40º  

9. 3x + 4y – 5 = 0, 2x + 3y – 4 = 0  px + 4y – 6 = 0 p


10. 3x + 4y + 12 = 0 

11. (5, –1, 7), (x, 5, 1)  9 x

12.
0

1 1
x

x
Lim

x

  
 
 

 

13.

3

3 3

x

x

e e
Lim

x

 
  

 

14.
2 3

5 7

x

x




 

15. y = sin .cosmx nx   
dy

dx


 - B 3×15=45

II. 

(i) 

(ii) 

16. a) 3 4 5 18, 2 8 13x y z x y z      5 2 7 20x y z  

  (8)

b)

1 3 3

A 1 4 3

1 3 4

 
   
  

  (7)

17. a) 5 6 4 15, 7 4 3 19x y z x y z      , 2 6 46x y z  

 (8)

b)

1 2 1

A 0 1 1

3 1 1

 
   
  

  AA3 – 3A2 – A – 3I 

I 3  (7)
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18. a) , ,a b c  
 3 4 3 , 4 5 6 , 4 7 6 .a b c a b c a b c       (8)

b) 2 3 , 2 , 3 2a i j k b i j k c i j k          

 .a b c   (7)

19. a) A, B, C 

sin2A + sin2B + sin2C = 4 sinAsinBsinC (8)

b)
sin 2A 1 cos 2A A

tan
1 cos 2A cos A 2

       
 (7)

20. a) (4, 1) 3x – 4y + 12 = 0  (8)

b) A(1, 2, 3), B(2, 3, 1)  C(3, 1, 2) 
A, B   C   (7)

21. a)
2 2 2

3 3 3x y a    3
dy y

dx x
    (8)

b) 3y x  (1, 1)  (7)

__________


